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ACCESS TO INFORMATION FROM WRITTEN TEXTS (100 points)
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Read the report below and then answer questions 1-11.
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A NEW PROBLEM: TOO MANY CYCLISTS IN THE CITY
” by Gail Barker

For people who live in cities, there are many advantages to riding a bicycle to
school or to work instead of driving a car. The use of bicycles reduces the number

of cars, leading to fewer traffic jams, more parking places and less pollution.

Nowadays, however, it seems that there are too many cyclists in some cities. One
example is Copenhagen, the capital of Denmark. In this very "bike-friendly" city,
36% of the residents cycle to work or school. The city has wide bicycle lanes™
which only cyclists are permitted to use. But, according to the Copenhagen
Cyclists' Organization (CCO), there is not enough room in these lanes for the
growing number of cyclists. When the lanes get too crowded, many cyclists
become aggressive. During rush hours, there are arguments and fights between

the cyclists and some of them get hurt.

Other big cities, like New York, also report aggressive and even unlawful
behavior of cyclists. Many of the city cyclists ignore traffic laws. For example,
they don’t stop at a red light and ride in the wrong direction on one-way streets.
The arguments and fights in New York are mainiy.between pedestrians and
cyclists because both groups are allowed to use the same lanes. Last year, a

few pedestrians were injured and one was even killed as a result of cyclists’

aggressive behavior.

There are several solutions to these problems. In Copenhagen, the city is
planning to build additional lanes for cyclists. In New York, there are plans
to build separate lanes for cyclists and for pedestrians. In the meantime, the
mayor's office is planning to announce certain hours during the day when only

pedestrians will be allowed to use the shared lanes.
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There are also attempts to solve the problem of cyclists' aggressive and unlawful
25 behavior. In one New York neighborhood, a group of cyclists who are worried
about this dangerous behavior helps the police to enforce the law. They report
cyclists who do not obey traffic rules. In Copenhagen, the mayor has used a
friendlier method: cyclists who obey the law and respect others are rewarded with
a box of chocolates. Although these attempts are sometimes successful, more
30 serious efforts should be made in order to solve the problems and let everyone

enjoy the benefits of cycling.
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Answer questions 1-11 in English according to the report. In questions 1, 2,
5,8 and 10, circle the number of the correct answer. In the other questions,

follow the instructions.

A What do we learn in lines 1-3?
1) Cyclists usually enjoy riding together.
ii)  Cycling is better than driving a car in the city.
iii)  Cycling can help people make friends.

iv)  Cyclists need more parking places in the city.

(8 points)
2. Copenhagen is mentioned in lines 4-11 to show (-).
1) what happens when the number of cyclists grows
ii)  how residents help cyclists in the city
iii)  how the city plans to reduce the number of cyclists
iv)  why cycling is important for the city
(8 points)
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What makes Copenhagen a "bike-friendly" city? (lines 4-11)
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According to lines 4-18, how is the use of bicycle lanes in New York different
from their use in Copenhagen?
COMPLETE THE SENTENCE.
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(9 points)

Stopping at a red light is mentioned in line 14 as an example of a traffic law that
(=). (lines 12-18)
1) pedestrians usually obey
i1y  is difficult to enforce
1i1)  cyclists often ignore
iv)  most drivers obey
(9 points)

What has happened to some pedestrians in New York? (lines 12-18)

A TV O B ’
(8 points)

PUT A v BY THE TWO CORRECT ANSWERS. (lines 19-23)
How will New York solve its cycling problems?

........ 1) Cycling in groups will not be permitted.

........ i1) There will be lanes only for cyclists.

........ iii)  The police will use bicycles to follow cyclists.

........ iv)  There will be new traffic laws for cyclists.

........ V) Cycling will not be allowed 1n some neighborhoods.

........ vi)  Cyclists will use the lanes only at certain times.

(2x8=16 points)
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3. According to lines 24-31, the method used by the mayor of Copenhagen is
friendlier than the method used by ().
1) the Copenhagen police
11)  the New York mayor's office
ui)  worried cyclists in New York

1v)  pedestrians in New York
(9 points)

9.  Why do some cyclists get a reward from the mayor of Copenhagen? (lines 24-31)

AINSWER: ... iieeieeeectererteeistitaesereesestaeasssseassrssessesssesessssssasanessrsenssrsseseesssseesssssrassanserasesenss
‘ (8 points)

10. What does the writer of this report say about the attempts to solve the problem of
cyclists' behavior? (lines 24-31)
1) | The attempts made are not enough.
it)  The methods used caused more problems.
i)  Attempts to change behavior are usually not successful.

iv)  In many cities the problem has been solved.
(9 points)

11. 1Inline 31 the writer mentions "the benefits of cycling." Give ONE of these

benefits. Take your answer from another paragraph.
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